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lttglnt onv tlrree of_the foltowing: IsExplain XmlTextReader and Xrnrrixtwriter with an exampre.
What is XElement? Explain with an exatrple.
What do you mean by authentication? Explain its type.s.
what do voL*rean b1' Inrpe's.na1i,-r. in ASp.NET"ii:xprain,
Explain ASP.NET AJAX Conrrol l'ooll<ir.
Create a web application to detnonstrate the use oll'lTMLUdilorExtenck:r A"jax Co6tr.6l,write the code of default.aspx arrd requirec-l property settings fbr the same.

Attenrpt u!rythregof the follorving: - , 
,,

What is namespace? Explain rvith the help of an example,' ,, , 
',

.,:

r I t AII questions are compulsorv.
1 2) \4ake r uitabt g,orffi]ffi,h erever necessaryr an cl
(3) Answ,ers to rhe.qryp gu*itig[ nrust be *riil;'tggqffil-
/ 1\ \1",..L^-^ +^ r.L(-l) Nirmbers to_rhe dgh( inclicar;,Ta,flfs/ +) ;\unttlers to the right irrdicate mafBs.
r 51 Drau neat labe[clJlineran]s ,ffi,., necessanr.
(6) L,se of Non-p{osrapmahlg calculators i., "ll"*A
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a List and Explain ADO.NET objecrJ
b lhatrjs DataReacrer in {Do.N"rrr Exptain with an exanrpre.c Explain SqlDataSource jn AD.Q.NET. 

'

d ,What is a CridView co*trol? Explain with atr exa^rplc

1 ; ]&'hat are the apprication services provided in ASp.NET.? Explain.I Differentiate between Formview and Detairsview in ASP.NET.
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N. B.: (1) AII questions are comlulsory ,,;,i'lii'''*'ri'r I
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(2) Make su.itaF-te Sssumptions wherever necessary urtt t!1ff.Ilif.p$pgil,rpiip,t}$ r,raclq,

(6) Use of Npn-programmablg calculators is ailowed.. ' ,'l ,; ,, . -. l: ,., , ;:' 
:, 

,, 
, 

,,1':.'..-,.
Attempt anv three of the following: l

Define and explain the lntenret of Things
''Any sufficiently advartced technologl in indistinguishable tiom magic", Discrrss.
Explain calm and ambient technology using exam[te of Live \l{ire. 

* 
. ' ]

What is nranufactured nonnalcy field?,Eiplain. . I '. : , ; ,

Diff'erentiate between static IP address and Dynu,nic Ip adclr.ess.
Define protocol. Explain the foltowing application layer protocols: Hl*fP, I-iTTpS,
SMTP, FTP

Attempt ont, tltree of the follot.ing:
Discuss thc tradeoffs between cost vel.sus ease of prototyping.
What are the challenges when we move frorn prototype to mass production? Explain.
Discuss opelt source versus closed source hardware aud sotiware. State their.advan(ages
and disactvantages.
Explain the followingwith respect to prototyping embeddeO OeviCei: processor Speecl,
RAM, Networking, USB, Power Constrnrption ancl Physical Size anci Folrr Factoi..
How is cleveloprnent done fbr Arduirro? Exptain.

Explain the non-digital methods of prorotyping.
Whdt aie laser cutterp? Explain the main fbhtures to consider while choosing a 1aser
cutt€i. ., . , ., :

Explain the diflerent methods used for 3D printing.
Discuss the diflerent standards that must be consiclered while implernenting Apls.
Explain POLLING and COMET.

lrif a sholt'note on Message Queuing Telemetry Transport protocoi.

'Atlem,pt anv tlirqe,gf the following:
Discuss.the limitations of memory in embedded devices. How is it managed? tsNplain.
What are the,iconoerns regarding-performance and battery life while wr'iting cods fur
ernbedded systenrs?
Write a.short noie'bn Libraries for enrbedded systems.
What'is a business'model? Who is the business f-or? Explain.
Explain the fotlowing business models: Malce Thing Sell Thing, Subscriptions,

Write a short note on ventltre capital,

[ifotal Martr<s: ?5]
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N. B.: (l) 4!! questions are comnulsorv.
(zl vt"t. tqituprg, u.r 

^,h 
erever necessary

Ill *::y.-r: t" tti. Sas]r f,rrrti* ,"rrt rr* *.itt.,l ton(4) Nuntbers to the risht indicare marks.
{s) o,r,r' @ ffi;,. qccessa[v.
(6) Use of Ng,n:nroqraqrpabte calcLrlators ffigA

1.

a,

b.

15

3;
;a,

,b.

c.

d.

e.

management.
Define the following rerms:
i)Net profir ii)Return on Investment

"r.'....r1, .-:+'
rl"+3',i.r
, 
".,"::1._::"

)
a.

b.

d.

e.

f.

v)lnternal rate of retLtrn
What is a project

the help of

l5

111:.,p, un.y thrye of the foilorving:
with flie hc'lp of exarrple explain fl&ro,arcl pass a,cl backwarcl pass to calculate ar.:ti,ritvduration in netrvorl< cliagranr. 

!!rru vqvr\YYsrLr Pilss t0 calclllale a(.duration in netrvorl< cliagranr.
, Defirre the lollowir.,g r.im' i)criticalpath ii)FIoat iii.lFree float 

.iv)lnterfering float v)Harnr,ock activityExplain Boehm's top ten softrvare p,oJ..t risl<s and the cfifierent strategies fo' recrucirrg

d.t,

.e.

,f.

r,'1* )'u'' rrure 0n l'roJeat Evttrtration and Revierv Techrriqtte.Iixplain the diflbrent categories orcost incLrrred in a softivar.e project.

.Yl:li,::::;::H:,:lroorhi,g? 
Exprai, two ctifrerer,, *uyr'oi.i:r.ioritiztng activities for

?*
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Paper / Sub.ject Code: 53706 / ltrnterprise Java

fifl
(2% Itrours)

N. B.: (l) AII quesriol.ls are compulsory..
(2) Make suitable assnmption.s wherever neoessary

Attempt a,Fy tlJTee of the following: . '

Explain the architecture of Java Enterprise Application.
Classify the EE Confainers. Explain. : ,

Write a short note on javax.servlet package.' r, ,

Explain the lifb cycle of a servlet application.

L-

1.

a,
lr

c,

d.

f.

,,

a.

b.

d.

e.

f.

3.
A

b.

c.

d,

Explain the architecture of JDBC.
Explain the architecture of Java

Wlrat is EL?
Explain the

r in detail. (With all its attributes)
LValue ancl RValue in detail.
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Add suitable illustration to it.
esplain resource injection in JhlDI.

Page 1 of 1
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ofthe following:
enterprise bean contai ner.
iiflbrent fypes of beans? Explain.

nsssage driven bean.
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N. B.: (l) AII questions are eqt4pulso{y .,ir:,'-.]' 
.'r'.,:,,,.t,t 

'',.,' -.'..,,,,
(2) Make s.Eltable assgryrqtions wherever necessary and Stqtc'the EgsHlqptiotti made,

(4)Number,toth*@...IT,:.;,''':'.L..,.:.'.]...i..,....11'1i..i.'
(5) Draw n$t labelqd di. er4rus wherever necess4fy. , .-., .-, .,' ,,::', ,, 1,.r'..i,..,,-: i . , . ,1

(6) Use of No_n-programmable calculators is allowed. "

1. Attempt a(vtltree of thefollowing; ., ,.' . . .i .. . -, ,,.;',,,.' .1 
.

a. What is Artificial Intelligence? Stut* itr applicationd ' ' 't . 
t . 

'.''. '.: 
. 1.,b. Discuss Turing test with Artificial intelligence approaclr. . i.j:.''.',ii,,..r "'' .. . ,

c. What are agents? Explain how they interaqt,witll-gnyrtopment. , , , ,.''-.,;_.,.;

e. Explain PEAS description of task environmeili for automatrd t*it'',',' ..r;. .;'i.,r..'..1. ",,- ','' .1' -..
f. Cive comparison between Full observable and partially observable agent, ',',,i,-' ,,

a. Discuss irr brief the tbrmulation of sirrgle state ploblern. .

b. Give the outline of Breadth First Search algorithm, , ..: ..r-' i.:.:..,: '

c'civetlreoutlineoftreesearchalgoritlrnt.
d, Explain tlre mechanism of genetic algoritlrrn. ,

e. Explain how transition model,iS use$ for-sensing ig,yaqllunr cleaner problern.
f. Cive the illustration of 8 queen problem using hill clilnbing algorithrn.

a. Explain the working mechauisur of rnin-max algorithrn.
b. Explain in brief about resolution theorem.
c. Write a note on Kriegspiells Partially observable chess.
cl, Explain in brief about knorvledge baie agent. I '

e. Explain the syntax for propositional lo-[ic.
f. Write a note on Wumpus world problem.

4. Atfempt urqt three of the f'otlowing:' ' i . , I '

3 Yhit jt first order logic?.Discuss ttte diflbrent elenrents usecl in first olclel logic.
b. Explain universal and existential quantifiel,with suitable example.
c. ;: .Coriverfthe fbllowjng.n6lurul,rentences into FOL lbrrn:

." " ,,'' ..: ,r.i,,.,.:. .. ' viiat is,Cieleier. , ''. ,' ,,, 
.

. . ".. . -t ii. ,. A11 batsm?n qre cricketers.,': ,,,,'
iii, Everybody speaks sonre language
iv, Every car lras wheel.

- . -: . , ' 
Everybody. iovos somebocly sorne tirne.

,.'<i.-. , What is knowledge errgi4eeling? Wr:ite the steps for its execr:tion.
e,., ,, Give comppqison bptrveer:.folwprd,chaining and hackward chaining
f, Explain in brief about unification.

5" Attempt tnv tlree of the following:
a, r,.Wh4t iS,planning?,Expl,ain STRIPS operators with suitable example.

,"b,' 'E-xplain,in brief about.partially ordered plan.
.'o.., Explain in briefabout.hierarchical planning,
d. Write a note on mutex relation.

'e",, , Wh4t:ii semaltiC network? Sliow the semantic representation with snitable exarnple.
f Write a note ou Event calculus,
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